
AT WORK – Storage Cabinet 72"H

N

U

A

E

E

F

C

D

J

J

H

G

X

P

P

P
O

N
S

W

C

J

Z AA

R

E

O

V

B

IH

Y

Q

D

K L M

S T

F

Cam lock-16pcs

Full cover hinge-8pcs

Top-1pc Front bottom trim-1pc

Back bottom trim-1pc

Adjustable glide-4pcs

Dowel-29pcs

Bolt 4*22mm-4pcs

Right side-1pc

Base Rail-2pcs

Glue-1pc

Screw 4x38mm-2pcs

Bottom-1pc

Cam bolt-16pcs

Handle 230mm-2pcs

Left side-1pc

Back Panel-1pc

Stopper-10pcs

Shelf support-12pcs

Shelf-1pc

Left door panel-1pc Right door panel-1pc Adjustable Shelf-3pcs

Adhesive cover-16pcs Screw 4x16mm-48pcs

Top trim-1pc

AW-36578

FILL WOOD DOWEL HOLE HALF WAY WITH
GLUE FOR A STRONGER CONNECTION

 x 5

 x 7
 x 4

 x 8
 x 8

  Screw 4*12 - 4pcs

 Philips Screw Driver for 
N Cam lock R Screw 4x38mm       

T Screw 4x16mm

W Bolt 4*22mm

Y Stopper

Z  Screw 4*12



AW-36578

STEP 3 STEP 4 STEP 5

STEP 6
STEP 7

STEP 8 STEP 9

O

O

O

X

Y

Z

U

T

T

K

L

P

P

B

D

G

J

I

I

A

C

E

P

 x 4

 x 5

 x 3

 x 4

 x 10

 x 4

 x 8

 x48

 x 4

 x 6

 x 7
N

N

S

S

 x 5

 x 3

 x 5

 x 3

 oval hole circular hole

Side panel Side panel Side panel



AW-36578

STEP 10 COMPLETED

W

V

Q

M

M

M

 x 4

 x 2

 x12


	页 1
	页 2
	页 3

